Naplnenie Adlerackeho kapacitora

1A | 1B | 1C | 1D | 1IE| 2A | 2B | 2C | 2D | 3A | 3B | 3C

Zenit v programovani 0 0 0 0 0 0 0 5 0 0 10 5
Zenit v elektronike 0 0 0 0 0 0 60 5 5 10 5 60
Stolny tenis 0 0 5 10 0 0 32 | 10 0 0 5 0
Sudoku 10 0 0 0 13 5 20 | 13 0 13 0 0
Prezentacné karaoke 1 2 1 0 0 4 6 0 1 0 1 0
Olympiada ANJ 0 30 | 10 0 5 10 | 10 | 20 5 5 40 0
Florbal 30 0 0 0 0 0 0 0 10 0 0 0
Matematicky klokan 10 10| 10| 10 | 10| 10| 10 | 10 | 10 10 0 10
Den osobnosti 100 | 90 | 100| 80 | 50 | 80 [100| 95 | 70 | 40 | 70 | 50
Letna akadémia 100 0 0O |[150| O 0 |[150]| 50 0 0 0 | 150
Sportovy den 70 150 | 70
dochadzka -17 | -20 | -27|-10|( 5 |-31| 5| -8 |-19| -42 | -31| -87
prospech 20 | -20| 40 | 50 -50 | -10| -10 | -10 [ -20 | -50 | 50 | -50
poradie v prospechu 100 200 300
spolu 424 | 92 [ 349]1190| 23 | 68 | 523|260 | 62 | -14 | 450 | 138
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